U0 0ot od ot %U

gogn g odod gd et %l
godn goooboobboodd
HEN 2360.00/01
goon go:0dd
gooob:gd
0 00 :960 %0
goon goobobbobbbodooooobbnb21-3-50
2
goon 86 022 86862866 13820650202
HREREEN
HEN oo goobooo g
0o 9601 %L 0O gogoobooboboood
gooo gobbobbbouodug gooogo UJ GB209—20060]

goooobbgogd

gobooboodgodad

goooobbgogd

gobooboodgodad

goooobbgogd
HEN HEN

O.00000Db0b00ob0obooobtbnohd4o0ooooobobobobuoboo
gobbb2i3duddlobobooogss4ooobeonboboodgoooobooboooood
gobbobbbudouditbec20 000000 DOna2co3d 0 00OODODODUOOOOOOOODODO
gobbooboobbooooooobbobbodoogoobboobbboooooobbbbboooon
gobbobbbudoogobbobbbudgoggoboobbudoooobboobobouoooad
gobbooboobbooooooobbobbodoogoobboobbboooooobbbbboooon
gobbobbbudoogb.ougoooogoboboobbuoooooobobobboooooon
gobbooboobbooooooobbobbodoogoobboobbboooooobbbbboooon
gooooo

gooooo
OO00000000Ogh209—20060 DO O ODOODOODOO
0 O ooooon
00O HEN

00O 0O O 0O 00O HEN




0000 99.0 99.20 98.0 98.80 96.0 96.50 95.0 95.50
[ naoh
>
0000 0.80 0.50 1.0 0.6 1.3 0.60 1.6 0.70
[na2co3]
<
OoQ0on0 0.05 0.03 0.08 0.03 2.7 2.60 3.0 2.60
[hacld <
0000 0.005 0.002 0.01 0.002 0.01 0.003 0.02 0.003
[ [ fe203
0 <
000 1000000gh200—20060 DO OO O0OOOOODOODOOOOOO 2
O0099%-98%0 0 000000009%%-9%% 0000000000 3.
Oo00o0oooooooooon
0000000 O00Ogh209—20060 00O O OO0
0 0O OO0 O0O0Q0oooOoooog

OO0 0O OO0
00000 naohd = 99.20 08.80 96.50 98.80
(1 0 0O O na2co3 < 0.50 0.60 0.60 0.60
000 0O nacld < 0.03 0.03 2.60 0.03
000000 fe2030 < 0.002 0.002 0.003 0.002

ERERE

1.000000gb200—20060 DO OO ODOODODOODOOOOOOOO 2.
[10099%-98%0 000000000 %% 00000 nonn 3,
Joobobobbuogogoobbobbbooooooobobood 4
Jooboobbodgodoobobbtodoooooboooo



http://www.tcpdf.org

